Kopings BS
KAK-serien 6:2

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poéang Namn MID

1 203 3.01 Lars Pettersson - Allan Hagman 8229 87038

2 1 1.37 Lars Lundgren - Tommy Larsson 10275 7934

3 103 1.10 Thomas Ekendahl - Barbara Ekendahl 17307 52284

4 104 0.38 Jan Larsson - Britt-Lis Elf-Lantz 46385 53560

5 301 0.36 Gisela Sjoholm - Inge Johansson 53325 53324

6 102 0.31 Lars Marjoniemi - Jorgen Lundberg 14508 7657

7 4 0.30 UIf Eneroth - Anders Tilly 89585 55806

8 202 0.08 Johnny Ramsten - Tommy Lindstrém 90802 38791

9 2 -0.08 Bjorn Magnusson - Pererik Akerberg 46386 2650

10 204 -0.30 Borje Karlsson - Per Strengbom 13521 67302

11 302 -0.31 UIf Nilsson - Bo Forslund 11234 8014

12 101 -0.36 Anders Eriksson - Rolf Pettersson 2624 31786

13 304 -0.38 Christer EIf - Ann-Marie Uddqvist 201752 17373

14 303 -1.10 Lars Andersson - Anders Algotson 4040 87693

15 201 -1.37 Ove Gustavsson - Vilnis Indersons 21398 2644

16 3 -3.01 Leo Skogsholm - Marita Indersons 3386 13502
13 & K102 Bésta kontrakt 14 & K943 Bésta kontrakt 15 4962 Bésta kontrakt
Nord vE1098 34 N =140 Ost vED7 3NT S =400 Syd v E832 34V =-110
Alla + Kn9 Ingen * K7 NS 49872

«D973 & ¢ v & NT #7432 % ¢ v & NT #Kn10 & ¢ v & NT

4 DKn9 4765 N9 4897 « EKn86 D52 N9 96 7 8 4 KKn43 41085 N48767

v 6543 v K7 S 94897 vK854  v10962 S996 79 vK10954 vKn S48767

+ EK1064 ¢ D872 049446 ¢+E 4109863 O4 4754 + K65 4103 095676

»8 #Kn642 V49446 &#D1086 &5 V44754 *5 #KD98642 V 9 5 6 7 6

4 E843 4107 4 ED7
v DKn2 vKn3 v D76
+53 + DKn542 ¢ EDKn4
#EK105 #EKKn9 »E73

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 2v N+1 2 140 27.0 -27.0 4 204 2NS+2 &6 180 31.0 -31.0(103 303 2¢ S+1 &5 110 36.0 -36.0
103 303 1v N+2 7 140 27.0 -27.0 1 201 2¢ S+2 #Q 130 20.0 -20.0 2 202 3#0-2 47 100 35.0 -35.0
102 302 14 S+1 ¢A 110 23.0 -23.0(104 304 2NN= T 120 19.0 -19.0 1 201 3NS-1 &5 -100 -3.0 3.0

2 202 INN= ¢2 90 15.0 -15.0 (103 303 3¢ S= v5 110 14.0 -14.0 3 203 3NS-1 &5 -100 -3.0 3.0

1201 3¢ V= ¢J -110 -23.0 230 3 203 44 S-1 v5 -50 -18.0 18.0|101 301 24 V= +9 -110 -40 4.0

3 203 3¢ V= vA -110 -23.0 23.0(101 301 3NN-1 T -50 -18.0 18.0 4 204 3« 0+1 v6 -130 -11.0 11.0

4 204 3¢ V= ¢9 -110 -23.0 23.0|102 302 2NN-1 T -50 -18.0 18.0|102 302 3NS-2 ¥4 -200 -250 25.0
104 304 3¢ V= &7 -110 -23.0 230 2 202 3NN-2 T -100 -30.0 30.0({104 304 3NS-2 ¥4 -200 -25.0 250
16 4 K9 Bésta kontrakt 17 4« E109873 Bésta kontrakt 18 4543 Bésta kontrakt
Vast v 975 5& N D -3 -500 Nord v K1063 5¢ OD-1100 Ost vED104 44 O D -1 100
oV + EKn9852 Ingen + 108 NS + KKn8

»106 & ¢ v & NT »3 & ¢ v & NT #853 & ¢ v & NT

4 Kn85 4 ED763 N8 7 433 4642 oK N 7 3 8 105 4 862 «KD7 N399 75

vKKn1082 vEA43 S 87 433 vDKn95 v82 S 7 3 8 105 v2 v K873 S39975

¢ K74 41063 O4 6 9 105 ¢K543 #EKn9762 O 5 105 2 5 ¢ E65 ¢ 74 09 4457

#Kn2 *K5 V56895 »E8 #DKn95 V 5 105 2 5 #EK9762 #DKn104 V94457

41042 & DKn5 4« EKn109
v D6 vE74 v Kn965
+D +D + D10932
#ED98743 #K107642 »-

Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
102 302 44 O-2 ¢Q 200 53.0 -53.0(104 304 44DN= ¢A 590 72.0 -72.0 2 202 34 0-3 ¢9 150 45.0 -45.0
103 303 2v V-1 &T 100 35.0 -35.0102 302 44 N= ¥8 420 50.0 -50.0|104 304 24 O-2 ¢2 100 37.0 -37.0

4 204 34S-1 45 -50 6.0 -6.0 1 201 34 N= ¢A 140 3.0 -3.0|103 303 5#V-1 &3 50 27.0 -27.0
104 304 34 O= ¢Q -140 -12.0 120 3 203 5¢ O-1 4Q 50 -16.0 16.0 1 201 Pass 17.0 -17.0

1 201 34 O+1 42 -170 -19.0 19.0 4 204 5¢ V-1 «Q 50 -16.0 16.0|101 301 3&#V+1 &5 -130 -80 8.0

3 203 24 0+2 +Q -170 -19.0 19.0|103 303 5¢ O-1 4Q 50 -16.0 16.0(102 302 4&4V= ¢K -130 -80 80
101 301 24 O+2 &A -170 -19.0 19.0 2 202 44 N-1  +A -50 -34.0 34.0 3 203 3NV= v4  -400 -55.0 55.0

2 202 34 0+2 ¢Q -200 -25.0 250|101 301 44 N-2 &Q -100 -43.0 43.0 4 204 3NO= 3 -400 -55.0 55.0
19 4« ED1032 Basta kontrakt 20 4 ED1073 Basta kontrakt 21 410 Basta kontrakt
Syd v Kn85 34 S =140 Vast vKn 2v N =110 Nord v Kn9 54 N D -1-200
(6)) +D3 Alla + 876 NS + Kn843

#K65 & ¢ v & NT #E1083 & ¢ v & NT #K109632 & ¢ v & NT
a5 4 K876 N8 7697 4964 4 Kn852 N86 877 4K753 4DKn8642 N 109 2 3 5
v 10743 vED92 S87597 vE1073 v95 S86877 vD1032 vE874 S 109 2 3 5
410652 ¢ E94 O56 7 46 + D9 ¢EKn1043 O 4 6 4 5 6 + D6 ¢E7 O3 39 107
210872 &E4 V5674E€6 #KDKn4 #75 V464586 #854 *E vV 339 107

4 Kn94 a K 4 E9

v K6 v KD8642 v K65

+ KKn87 + K52 + K10952

#DKn93 #962 #DKn7

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

1 201 34 N= #A 140 12.0 -12.0 3 203 3vyS=  +Q 140 40.0 -40.0|103 303 44 O-1 &A 50 67.0 -67.0

3 203 34 N= #A 140 12.0 -12.0|103 303 2NS= +Q 120 36.0 -36.0|102 302 34 O+1 «A -170 310 -31.0

4 204 34 N= 46 140 12.0 -12.0 4 204 24 N= v9 110 32.0 -32.0 1 201 44 O= &A 420 -15.0 15.0
102 302 34 N= &A 140 12.0 -12.0 1 201 4vS-1 &K -100 -6.0 6.0 3 203 44 O= +2 -420 -150 150
103 303 24 N+1 ¢A 140 12.0 -12.0|104 304 3v S-1 &K -100 -6.0 6.0 4 204 44 O= &A -420 -150 150

2 202 24 N= #A 110 40 -4.0 2 202 3vS-2 49 -200 -26.0 26.0(101 301 44 O= ¢2 -420 -15.0 150
101 301 44 N-1 #A -50 -27.0 27.0|101 301 3NS-2 &K -200 -26.0 26.0|104 304 44 O= 49 -420 -150 15.0
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104 304 34 N-2 &A -100 -37.0 37.0(102 302 3NS-3 &K -300 -44.0 44.0 2 202 49y O+1 &J -450 -23.0 23.0
22 « E108642 Basta kontrakt 23 & K875 Basta kontrakt 24 & K97 Basta kontrakt
Ost v 1042 34 S =140 Syd v Kn4 6NT V =-1440 Vast v973 44 N D -1-100
oV ¢ 842 Alla 4953 Ingen +972
&D & ¢ v & NT #KKn86 & ¢ v & NT &EKN52 & ¢ v & NT
4 Kn3 497 N56597 «EDKn62 #10 N12211 a2 10854 N9 33914
v Kn63 v ED98 S56597 v 106 v EKD2 S12211 v K864 v EDKn5 S9 3394
¢ KKn965 ¢ E7 O7 76 3 4 + Knl10 + EKD6 O 1211111011 + K10653 ¢ ED8 O3 9 104 4
#1042 #Kn8753 V77634 #E1073 D954 V 1211111112 D108 #43 vV 3 9 104 4
« KD5 4943 & EDKNn63
v K75 v 98753 v102
+ D103 8742 + Kn4
&EK96 &2 #K976
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 44 S+1 &J 450 57.0 -57.0 4 204 74DO-2 9 500 83.0 -83.0 1 201 34 S= &T 140 39.0 -39.0
4 204 264 S+2 &2 170 6.0 -6.0|101 301 6#0-3 v9 300 58.0 -58.0 2 202 34 S= +5 140 39.0 -39.0
101 301 24 S+2 ¢5 170 6.0 -6.0 1 201 6NO-1 v9 100 33.0 -33.0|101 301 24 S+1 v4 140 39.0 -39.0
102 302 24 S+2 &9 170 6.0 -6.0 2 202 6#V-1 ¢9 100 33.0 -33.0|102 302 4¢ V= a7 -130 -12.0 12.0
104 304 24 S+2 &T 170 6.0 -6.0[104 304 6NO-1 &2 100 33.0 -33.0 3 203 3y O+1 ¢J -170 -17.0 17.0
103 303 24 N+1 A 140 -1.0 1.0/102 302 3NV +3 vJ -690 -42.0 42.0(104 304 3v V+1 4K -170 -17.0 17.0
2 202 44 N-1 ¢A -50 -40.0 40.0 3 203 6NO= v5 -1440 -99.0 99.0 4 204 29y O+3 ¢ -200 -25.0 25.0
3 203 44 N-1 ¢A -50 -40.0 40.0(103 303 6NO= v9 -1440 -99.0 99.0|103 303 34DS-2 ¥5 -300 -46.0 46.0
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